Chapter 6 Section 6.2 Sum, Difference and Trigonometric Identities
Double Angle Identities
Day 2

Name: Date:

Using identities to reduce complexity in expressions and solve

Learning Goal 6.1 .
equations.

More Questions — Solutions

Double Angle Identities

cos 2A = cos®* A —sin® A sin 24 = 2sin A cos A
_ 24 _
= 2cos A 21 can 2 = 2tan A
= 1-2sin“4 an =1 tanZ A

1. Prove the identities using the Pythagorean identities.

a. cos2A=2cos?A—-1 b. cos24=1-2sin?4A
sinfA+cos?4A=1 sin?A+cos?A=1
sin?A=1-—cos? A cos?A=1-sin?4
cos 24 = cos? A —sin? A cos 24 = cos? A —sin? A
= cos?A — (1 — cos? A) = (1 —sin?A) —sin? A
= 2cos?A—-1 =1-2sin’4

2. Express the following as a single trigonometric function of a single angle (do not evaluate).

T T
a. 2sin (g) cos (E) b. 4cos?35°—2 c. sin60°cos 60°
1
= — (2 sin 60° cos 60°)
= sin 2 (g) = 2(2cos?35°—1) %
o = 2 cos 2(35°) =5 sin 2(60°)
= sin (?) = 2 cos(70°) 1
= —sin(120°)
2

Assignment p. 306 # 1(ce), 2(c), 35, 8(bdf), 11 - 18, 21, 24, C1 Quiz Next Day!
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Double Angle Identities
Day 2

Trigonometric Identities

3. IfcosA = 5/7 and £A is in the fourth quadrant, find the exact value of sin 24.

xt+y?=r2 sin 2A = 2sin A cos A
() +y*=()? _,(_ 2\ (5
25 +y2 =49 I <7)
2
ye =24 _ 20V6
y=-vad TS
y = —2v6
246
ing = _2Yo
sin >
4. Prove the following equation.
sin 3x
——— =4cosx —secx
sinx cos x
sin 3x 4 cosx —secx
sin x cos x
sin(2x + x)
=" =7 =4cosx —
sin x cos x COS X
4 cos?x —1
sin(A + B) = sinAcosB + cosAsin B Angle Sum B Cos X
(A=2x8=x) Identity
_ sin 2x cos x + cos 2x sinx
sin x cos x
(2sinx cosx) cosx + (2cos? A —1)sinx Double Angle
= - Identities
sin x cos x
B 2 sin x cos? x + 2 sin x cos? x — sinx
N sin x cos x Expand
3 4 sin x cos?® x — sinx
- sin x cos x
_ sinx (4cos®x — 1)
N sin x cos x
4 cos?x—1
- COS X
Assignment p. 306 # 1(ce), 2(c), 3 - 5, 8(bdf), 11 — 18, 21, 24, C1 Quiz Next Day!



